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QUESTION 1

Which of the following statements about 5G QoS Flows is FALSE? 

A. A QoS Flow is the finest granularity of QoS differentiation within a PDU session. 

B. A PDU session has one or more QoS Flows. 

C. All QoS Flows of a PDU session are served by a single N3 GTP-U tunnel. 

D. Each QoS Flow is served by a dedicated data radio bearer. 

Correct Answer: D 

 

 

QUESTION 2

Which of the following best describes the Secondary Node Addition procedure? 

A. Used to transfer bearer contexts from the master eNB to the secondary gNB. 

B. Used to establish a UE context at the gNB for a UE that supports option 3X. 

C. Used to establish connectivity from the gNB to the EPC. 

D. Used to establish an X2 connection between the eNB and gNB. 

Correct Answer: D 

 

 

QUESTION 3

Which of the following is an HTTP method used by an NF service consumer to create a new resource at an NF service
producer when the resource URI is selected by the consumer? 

A. POST 

B. PUT 

C. PATCH 

D. UPDATE 

Correct Answer: B 

Reference: https://www.tech-invite.com/3m29/toc/tinv-3gpp-29-501_c.html 
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QUESTION 4

An AMF needs to know when an SMF deregisters with the NRF. Which of the following NRF APIs should the AMF use? 

A. Nnrf_NFManagement_NFUpdate Request 

B. Nnrf_NFDiscovery_NFDiscover Request 

C. Nnrf_NFManagement_NFStatusSubscribe Request 

D. Nnrf_NFManagement_NFDeregister Request 

Correct Answer: A 

Reference: https://www.etsi.org/deliver/etsi_ts/123500_123599/123502/15.03.00_60/ts_123502v150300p.pdf 

 

QUESTION 5

Which of the following statements regarding cloud RAN architecture is FALSE? 

A. The gNB is split into three functional modules: a radio unit (RU), a distributed unit (DU), and a centralized unit (CU). 

B. DU performs the non-real time processing of layer 2. 

C. The fronthaul segment connects RU to DU and the midhaul segment connects DU to CU. 

D. CU can be deployed in the cloud as a VNF. 

Correct Answer: D 

Reference: https://www.5gtechnologyworld.com/open-ran-functional-splits-explained/ 

Latest 4A0-M10 Dumps 4A0-M10 VCE Dumps 4A0-M10 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 4A0-M10 Dumps | 4A0-M10 VCE Dumps | 4A0-M10 Braindumps                                3 / 3

https://www.geekcert.com/4a0-m10.html
https://www.geekcert.com/4a0-m10.html
https://www.geekcert.com/4a0-m10.html
http://www.tcpdf.org
https://www.geekcert.com/4a0-m10.html
https://www.geekcert.com/4a0-m10.html
https://www.geekcert.com/4a0-m10.html

